= AH O
N = 0 &8 AF S & Al A
A= JIEFAIE A SA BZAYFE
Hi: [JHZE 2(BHBES/XA)
oo =E3E 29 & (e
- _ _ bSRE Y=
A= .25 - F3H .S () - MBAIY - BES 0] AFCH @;OH Hns
JIEFAFS & 28,234,079 31,545,072 3,310,993
= 120,900
2 1,500,000
= 191,900
< 486,710
Al 25,934,569
ALY = &G 3,618,574 7,434,019 N3,815,445
z 1,500,000
< 450,000
Al 1,668,574
s 22 (BES/AA) 2,998,786 6,848,717 N3,849,931
2 1,500,000
== 450,000
Al 1,048,786
233 29 X 5,500 5,880 A380
I IR AIEES FH 5,500 5,880 A380
201 et AH| 5,500 5,880 380
01 AFR22|H] 500 500 0
Ogx= 500
ocQXEIANE 2 X2
500,000& = 12X 500
02 22249H4| 5,000 5,380 A 380
Oz222 ¢ HMA 4,200
oAz ®MIIZE 350,000 = 12€ 4,200
OAEEHIS X 800
oAZ2d JIEZE RANEL 20,0008 * 405 800
FECEZE 2 245 2,993,286 6,842,837 A3,849,551
2 1,500,000
< 450,000
Al 1,043,286
JECESE SEFEHAY 100,000 100,000 0
401 AEHIZE0UHI 100,000 100,000 0
01 Al&H] 100,000 100,000 0
OZZg3d sFFH A&
100,000,000 * 14! 100,000
HEYZ =T 111,800 37,500 74,300
201 LA 19,700 18,500 1,200
01 AF222|H] 4,700 6,000 21,300
O3 &l 2,500
oHIBER 22Xt SAld|
5,000& * 259 x 10 * 23] 2,500
o1l =l 200
oXHAHFZE U=l 100,0008 * 2H 200




A= JIEAE A SN RBAYEAIC
M T BR(BBBS/NH)
P YECYDY 2 243 (el &2
- _ _ HEE
= 2M - Y -2 (3H) - NRAIY - BAS O 4K 0Ol At o8 B =
Ogpt2H| 2,000
o"HZBXH JIEt =&Hl 2,000,000& * 14 2,000
03 A2 HI 15,000 12,500 2,500
OBAI2YS 28t UM Lotedy| 15,000
cAAEI| =2 500,000& * 2424 1,000
oHAlRIZY OHNE S ME
2,000,000& » 14 2,000
oHIERESE SF+UHMZE 100,000& * 5 500
cHZEN XFF MA 500,008 * 14 500
oYelEH EXNYX 3,000,000& * 14l 3,000
o=2Z=0 2Xt 5,000,000& * 14l 5,000
o2& oHHE &X 150,000& * 200K 3,000
301 YptEaag 2,100 4,000 21,900
10 EALAHIEA S 2,100 4,000 A 1,900
OBAMUAZTDXH(Z ) S A
7,0008 * 241 « 15% » 10& 2,100
307 QI2t0|H 40,000 0 40,000
04 QIZHHALE X 40,000 0 40,000
OHZ=N AMEEXS 40,000,000 * 14 40,000
401 AlEHIZ 2 50,000 15,000 35,000
04 BALZHRA Al &L 50,000 15,000 35,000
O#AME HIIAIY 4X 30,000,000 * 14 30,000
O72HE MIIAA 10,000,000& = 1A 10,000
OUNRIZH =4 L A&
10,000,0008 * 14| 10,000
CEI3E & % SHMEAY 148,197 146,599 1,598
101 Q14| 112,197 107,599 4,598
04 JIZtHIZ22HsSE+ 112,197 107,599 4,598
CYIZY Mz 2 =X
41,8003 * 159 * 42 26,334
OS2 MBSINY A
41,8003 * 159 * 424 26,334
OZY22 ya2e 59,529
olle2 41,8002 * 4% x 2302 38,456
oFgaY 41,8002 * 4% * 46 7.692
cdXxts4 41,8003 » 4% » 11 1,840
oAIZe A&
7.84080 * 462 x BAIZH x 4 11,541
201 Let2g| 21,000 21,500 A500
01 AFR 22| 18,000 18,500 A500
Oget=&H| 14,000




A= JIEAIE & M HEZANSFEE
H: NHBSE 2 (HHEBS/XA)
L AECYTE BE A3 G-
2 .RA - O(3) - MBAY - BAS 0l &t e HmE2
= ° T iy o L) T NS oS =5 &= 04| AFOH U=sa
creza %E ouE 24 2 B4
150,000& * 2004 2 3,000
= J|Et =Z2H| 650,000& * 43| 2,600
oZd M4 B 2 TN 2L
700,000& * 12& 8,400
Oogxz 4,000
oAld EH| & MY 2=z
500,000& * 4CH = 23] 4,000
02 =323l 3,000 3,000 0
OAI&d &Hl |XIYI 3,000
oxdae HIE 2l ¥ FE 7Y
300,000& * 10=& 3,000
405 K&t =H| 15,000 13,000 2,000
01 A& ESEFHSHI 15,000 13,000 2,000
OZ&CI 2D JIH7 15,000,000 * 14| 15,000
TR HIANLLT Y SNLE 404,989 432,933 A27,944
101 eIl 74,409 70,553 3,856
04 JIZtHZ22XNSE+ 74,409 70,553 3,856
O3ss&EA Fa02Y 74,409
SRt 41,8003 » 5% * 230 48,070
oxgd 41,8003 * 5% = 46 9,614
ocdAXxtsg 41,800& » 5% * 11 2,299
oAZt2lE 7,840 * 5H 462 * 8AlZt 14,426
201 LEer23d| 192,380 192,580 A 200
01 AtR22lH| 30,000 30,000 0
Ogdr=2H| 30,000
ocBAUTEAERI AEALE P2
2,500,000& = 123 30,000
02 =323l 162,380 162,580 A 200
O03=22= & HA 135,180
oL g3A MIIRS 6,250,000& = 12& 75,000
oA QB (MA*R)
10,000,000& = 14 10,000
oHIIHNMEFY =5 500,000& * 14 500
o EHIA Motk 23
3,500,000& = 12& 42,000
ocZAUIIY LS M=
40,0003 * 12& 480
oLz 600,000& * 12& 7,200
Od =l 6,000
oL 23R S3AE - Bl FFU
500,000& * 12& 6,000
ORXteE - &EH| 6,000
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H: NHBSE 2 (HHEBS/XA)

ol FECUTA 2 BHS CLRE
Al 32 t:sA_l X XH [:|-o|(=|):”) }\.”I:I}\l,o-l A= Oﬂ/\}OH In_-lln“j_“:_ H|j§3k
== ° T = o7l (= ° T NS oS =5 &= 04| AFOH U=sa

oS FEUH L HA&2lH
400,000 = 12& 4,800
oBHALE HAE ATV HAl2elbl
100,000& * 12& 1,200
(OINE=F-1:=1E=IN}:] 15,200
ollEE ¥ ZAS SAwL
500,000& * 12& 6,000
oL EIA AT HYANAE FANES
600,000& * 12& 7,200
oSEAMANE RAES 500,000& * 43| 2,000
307 QI2t01™ 43,200 37,800 5,400
05 BIZtRIEZ 43,200 37,800 5,400
OzRHELLHR Gl
600,000& * 6IHA + 123 43,200
401 AIEHIZ 2 95,000 132,000 A37,000
01 Al&HI 95,000 132,000 A 37,000
O3&s, Jt2s &x ¥ A
15,000,000 * 14 15,000
O32NES(E2,8A &) dx &Yl
15,000,000& * 14 15,000
OHJAEZE (ME,8H S) &x1 & B
15,000,000& = 14 15,000
OMRXZIE FUHEEZLHALE
50,000,000& * 14 50,000
SEANE =2 /s EXNOHLY 270,000 2,200,000 A 1,930,000
401 AIEHIZ 2 270,000 2,200,000 1,930,000
01 Al&HI 260,000 2,200,000 A 1,940,000
OHIAHZNTOE T2 XI0HYI
60,000,000& * 14 60,000
O3 0I=2EX EX 04
200,000,000& * 14 200,000
03 Al =20HY| 10,000 0 10,000
OEXIHYAIE R2OHYI 10,000
oUW Y I S 242
10,000,000& * 14 10,000
LTSI AZFEHT AIY 22 3| 8,300 8,705 A 405
202 O Hl 8,300 8,705 AN405
01 =ZLHOA I 8,300 8,705 2405
OZELTESE 43 ULl 8,300
o=l 100,000& * 69 » 123] 7,200
o =2 100,000 * 19 = 113l 1,100
NHASEAEHOIZAIE AFR(FE) 1,950,000 3,902,100 A 1,952,100
= 1,500,000
& 450,000
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YECYTH 2 2L (25l &2
_ _ HE T
2.RN I S(EH) - NRAY - BAS 0 & 24 e HRE2
401 Al&HIL 20| 1,950,000 3,902,100 A1,952, 100
= 1,500,000
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ONGBALSHOISAL LA (ZTHEHDD
NETINE) ,942,200,000% * 14! 1,942,200
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03 Al& S CH| 7,800 10,000 A2,200
ONSBALHOIZAIL ZHA 20|
7,800,000% * 14! 7,800
= 6,000
= 1,800
BBAMY TE L JIHASH(SEHUDD /) 599,528 557,546 41,982
ST B 490,628 546,341 £55,713
SUATH FAE FNES L &3 182,300 148, 100 34,200
201 Yer2 YY) 25,300 35,100 9,800
01 AR eIt 800 800 0
oYx2 800
CEYTA AL 28 YXE
400,008 * 23| 800
02 ITZ2YH| 24,500 34,300 9,800
CNEETES 19,500
oX4E U MEE LHRXY|
8,000,000% * 14! 8,000
SFI & JIAAE KR BAH|
4,000,000%! * 14! 4,000
SHAIZ L HAAL SN2+
3,000,0008 * 141 3,000
SHAAM CC-TV DA 2 |SXES
400,008 * 10CH 4,000
oBEIY HOHE RXB4
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oeigl 5,000
CEYBA TTBAIL L FH REM
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OFSEUY AL 24 20,000,000 * 14! 20,000
OFSSIOMEE S| 7,000,008 * 1A 7,000
OHIZI(HSBHSI) M
5,000,009 * 14} 15,000
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101 el 4] 113,729 43,444 70,285
04 JIZHMIZ2XSE =+ 113,729 43,444 70,285
Oltz 4 2l 25,273
=Jl=2g 34,9003 * 2H * 230 16,054
oxFFsd 34,9003 * 2% * 46Y 3,211
oXAHIX+E 34,9008 » 28 * 11 768
o A2t =G 5,240,000& = 14 5,240
O0elol Az 23 50,546
=Jl=2g 34,9003 * 49H * 230 32,108
oFsd 34,9003 * 4H = 46 6,422
oA+ 34,9003 * 49 » 11 1,536
o A2elHE 10,480,000 * 14 10,480
OHNFEA L SR Bel 37,910
=Jl=8 34,900& * 3F = 230 24,081
oFsd 34,9008 * 3H = 46¥ 4,817
o AHIX+E 34,9008 » 3H * 11 1,152
oAt =E 7,860,000& = 14l 7,860
201 et 119,300 99,680 19,620
01 AtS22lHl 96,500 74,300 22,200
Oget=gH| 69,500
)| ARESHI 200,000& = 122 2,400
oHR¥ EEES ME  2,000& * 2,000% 4,000
oplE A A= 800,000& = 12& 9,600
cETHP 29 B2 ¥ 22
3,000,000& * 23l 6,000
o AMzel A2F  300,000& * 108 * 53l 15,000
oL MOlE 3RS 2,000& * 10,00004 20,000
oFZScte - I 1,000& = 8,0000H 8,000
o282 HE 150,000& = 302 4,500
ORI W =H] 7,000
oA BELNSR 3,500,000& * 23l 7,000
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3,000,008 * 14| 3,000
401 Al HIL 2RI 5,000 0 5,000
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HARX B 583,079 974,322 £391,243
101 Q24| 175,869 59,290 116,579
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oFgH 41,800& * 3H x 46 5,769
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o R4 HAEZH|IY 200,000& = 352 7,000
cUTA U FHEA HET
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o J|Et=3HI 500,000& = 53| 2,500
Of &=l 400
obtstael Xl W= 200,000& = 13 200
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oMIIE 6,000,000& * 12& 72,000
o AIJIANES 2,000,000& * 6 12,000
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OAl & EHIs Xl 24,600
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5,600,000& * 14 5,600
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Oxsn2 oS
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22 -




A= JIEA A SN BMSISTASAC
M BIEAMNE 243 L 2L (2L 2 /250 =)
SRl AEENZ 2323 (9 E2
AT .2H "B OEH) - HRAY - BES ol e HlmE2
01 Al&H| 100,000 456,600 A 356,600
OO0t =SANSE E2+3At  5,000,000& * 14! 5,000
Ogea M T ZA 100,000& = 7074 7,000
OZAM2 - 22 HUE ZAIA
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HESAL 29 105,300 701,000 595,700
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OANEES 10,000& * 10& * 503/ 5,000
OFELY AB2F ¢ 200,000& * 12& 2,400
OEHd & SAK #Y 300,000& * 12& 3,600
OJIEt& &t EHl =2 3,000,000& * 14 3,000
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O0=232z= £ WA 6,000
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SMEBEXNY AAL4E
100,009 * 1CH = 15] 100
oSASHY BHE 430,008 * 104 * 15 430
oMEBIZY BHE 600,008 *1Ch * 13| 600
oSASNY HAMLRLD
300,000%0 * 1CH * 23l 600
oMBTEXNY HAMELLS
200,000% * 1CH * 23l 400
CHEYS +TSW4+4E
1,000,0008 * 53] 5,000
Oxtg et 22,920
oSMEXY R
400,000 * 1CH * 128 4,800
oMBEX(ZH) RFH)
220,008 * 3CH * 122 7,920
ogaExt 2l
400,0002! * 1CH * 128 4,800
oMEBEIZ(ZH) »2lt]
150,008 * 3CH * 122 5,400
206 T2l 63,000 114,000 A51,000
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= JIEtAIE & AN HESIAMEA
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ol MEEY Y WEE =3 CLE-LE
A .S M. (5 H) - MEAMY - BHAS O] Ak OH &EIE H =2
== ° T (=) iy o L) ° T NS oS =5 &= 04| AFOH U=sa

01 =4l 63,000 114,000 251,000
SAHEMY I HESZD 7L
30,000& * 25004 7,500
OSAEMY I 2HFNHEI] FL(ANEXH)
5,000& = 2,10074 10,500
OsasMy )l 2ELHE & U (MEXA)
1,000& * 2,5004 2,500
OSAEMI| BI £SAE 7
30,000& * 5000 * 2& 3,000
OMasE Z2=AHE 22 400,000& * 2004 8,000
OlU=&H MHEss 228 2
1,000,000& * 294 2,000
ONEEE =2l FZHE ¢
500& = 10,0000 * 28 10,000
OMgss 221 12Y P (ANEXY =
&) 4,000 + 3,0007H 12,000
OHAEX =HE 7 100,000& * 500H 5,000
OHg&s =1 74 250,000& * 100K 2,500
301 LEEAZ 180,000 180,000 0
12 JIEt2 432 180,000 180,000 0
ONEsE =8&HZ K&
150& * 1,200,000kg 180,000
307 BI2t0l ™ 150,000 106, 100 43,900
05 QIZtfEZ2 150,000 106, 100 43,900
O2a M40 HEEI| AHE
120,000,000& * 14 120,000
o4 & XNEFHIIES 22 E Heldl
30,000,000& * 14 30,000
AEt I HEsSAY 23 3| 4,000 2,880 1,120
202 044l 4,000 2,880 1,120
01 =2WdHI 4,000 2,880 1,120
ONEES Y WES =3 =oiH
50,0002 * 4% = 203 4,000
HE A HY| (MESZAILA)(IIEHIIE 8,987,156 8,527,799 459,357
ol 29| 8,958, 156 8,489,675 468,481
ol 29| 5,320 5,360 240
203 R F&d| 5,320 5,360 A40
02 FRIALRF=EH| 1,120 1,160 A40
OFIIMARFX 40,000& * 289 1,120
04 EN2ILRFEH| 4,200 4,200 0
ORMZIHRFA 350,000& * 12& 4,200
StZ0|et& A8 K& 8,952,836 8,484,315 468,521
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A= JIEtAIE &
MRH: SHA R

o™ So .

SN MEE

ST (MES S AL A)(JIEH/IIE)

MR- FH-E(BN) - R - BaS 01 &t o8 e HlRE2
101 Q14| 8,952,836 8,484,315 468,521
03 RIAHAZZXE = 8,952,836 8,484,315 468,521

Oos30lsad =¢ 8,952,836
ollEgs 2,278,308
- b4 1,058,080& * 20 128 253,940
- 104 1,117,570& * 50% ~ 128 670,542
- 154 1,200,360& * 43% » 128 619,386
<204 1,280,330& = 37F » 123 568,467
- 254 1,365,620& » 8H x 123 131,100
- 304 1,453,040 » 2% » 128 34,873
cHAHZ (VY 674,544
- 54 1,628,080& * 60% * 43| » 20H 78,148
<104 1,687,570& * 60% » 43| » 50H 202,509
- 154 1,770,360 * 60% *» 43| » 439 182,702
- 204 1,850,330& * 60% * 43| ~ 37H 164,310
- 254 1,935,620& » 60% * 45| » 8¥ 37,164
- 304 2,023,040& » 60% * 43| » 2H 9,711
o3 (E2+E) 264,781
- 54 1,628,080 * 25% » 23] * 209H 16,281
- 104 1,687,570& * 50% » 23] » 50H 84,379
- 154 1,770,360& * 50% * 23|  43H 76,126
- 204 1,850,330& * 50% * 23| ~ 37H 68,463
- 254 1,935,620& * 50% * 23| » 8 15,485
- 30 2,023,040 * 50% * 23| « 2H 4,047
oM (MERYI) 927,499
- bd 1,628,080 * 55% » 63 * 20 107,454
- 104 1,687,570& * 55% * 63| » 50H 278,450
- 154 1,770,360& * 55% * 63| » 43H 251,215
- 204 1,850,330& * 55% * 63| = 37H 225,926
- 254 1,935,620 * 55% » 63 * 8Y 51,101
- 304 2,023,040 * 55% * 63| « 2H 13,353
oH UL (UK
40,0002 = 160 = 128 76,800
oF M (IHE)
20,000& * 160 = 2.0 » 12& 76,800
oM (E+YRH)
90,000& * 160" = 12& 172,800
oAU (HPHASH)
70,000& * 160Y * 128 134,400
oYM (M)
60,000& * 160 * 122 115,200
ocSCIF MU (FHSAHI)
160,000 = 160H = 123 307,200
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ool QE 2| (9 E2
2. 2N HY O (BH) - MBAY - BAS 0f b S H RS2
0 & o
oSl EMHI(JIHEEHI)
110,000& = 160Y » 12& 211,200
o= ZMH(REEXHI)
140,000& = 160Y » 12& 268,800
o=Sg|EMH(HAESFIHYI) 337,273
- b 1,628,080 * 60% * 23| * 209 39,074
- 104 1,687,570 = 60% * 23| * 509 101,255
- 154 1,770,360 * 60% * 23| * 43Y 91,351
- 204 1,850,330& * 60% * 23| * 37Y 82,155
- 254 1,935,620 * 60% * 23| » 8Y 18,582
- 304 2,023,040% * 60% » 23] * 2% 4,856
oXIMUIPEY(AIZ2HR)
12,1473 « 160H = 4A|2t » 128 93,289
oXWZ R4 (0F2H)
4,049 « 11098 » 26 * 12& 138,962
CENDLAL(FUNE)
48,5883 * 160 * 52 » 12& 466,445
CEUDLA (AT
64,791& » 160 * 20 207,332
o =25 MHl (2 A1)
1,800& * 160 * 262 * 12& 89,856
oXHSHIExZ Y (5& W)
51,9903 * 160 * 0.3 » 43| 9,983
oXHSHIEXZ+Y(1NSE W)
419,090& = 160 * 0.2 » 43| 53,644
oIl =l 64,000
o= 80,000& * 160H = 23| 25,600
29| 40,000& 160 = 13 6,400
gsts 120,000& = 1609 * 13l 19,200
Y] 20,000& *» 160 * 13 3,200
st 20,000& * 1609 = 23] 6,400
a2 10,000& * 160Z * 23| 3,200
o=z Y32 6,751,633,000& * 4.5% 303,824
ocHAAEH BYZ  6,751,633,000& * 2.54% 171,492
oHNMEEZ 6,751,633,000& * 5.17% 349,060
clE2EER 6,751,633,000& » 1.75% 118,154
oEAF REHS
3,597,000& * 9% = 204 * 150% 971,190
SN HEXNS 62,500& » 160 * 13 10,000
cEANSSUHEL WEH BX
3,000,000& * 109 * 23] 60,000
Jl= 2| 29,000 38, 124 A9, 124
Jl22Z | 29,000 38,124 A9, 124
201 L2y 20,600 22,124 A1,524
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el JlE3sl (98
22N ZY - S(EH) - MRAY - BES 0f et o e DS
01 AtR2teld] 19,800 21,284 AN1,484
Oget+=2H] 10,864
CHMIMNR A2F 7Y 150,000& = 103 1,500
ocHIANR EA 7Y 350,000& = 43 1,400
SHAANR ADE DY
300,000& = 85 = 23l 4,800
ocHHAISR FHl #=2ldl
150,0008 * 65 * 23| 1,800
SHZ2F=E 12,0008 » 65 * 12& 864
oA & HEY 2¢ 100,000& = 58 500
O=gHl 5,576
oll=zgRsdgaltl 5,576,000& * 14| 5,576
ogxs 3,360
ods)| ZXE 40,0003 = 7CH * 122 3,360
02 232234l 800 840 A0
O0332= % HAl 800
oTV(ASOI2H0IZ) AI¥E 66,6001 » 122 800
202 OdH 8,400 16,000 A7,600
01 =LHOYI 8,400 16,000 AT,600
OJI2dR=4d 0L 840,000& = 10& 8,400
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